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i = J P =] 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
4000
0l 8t2|H| 2,268,029 2,268,029 0
4100
olgre 22| 2,268,029 2,268,029 0
4110
olgre ke 2,268,029 2,268,029 0
4111
olgre ke 1,171,548 1,171,548 0
200
AHSS Ol A 1,095,646 1,095,646 0
210
BXAY 436,246 436,246 0
201
UBr2 A Y| 6,923 0 6,923
6,923 0 6,923/01 LBr22H|
oI NSEY LAY (UA=2FEH) = 5,953
(=) 1,786
() 4,167
oYY S22y (U2HH) = 970
(=) 299
(%) 671
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)} = b = = 5
of &b o - ® At = p ES
.28 HE NME = I N A
308
XX EHS 78,296 85,219 N6,923
ol
78,296 85,219 A6,923/01 AXISHHZABXEZ
ocllgANEEH LAILE (U2FH)
(=19,424,0002+% 13,599,000 ) - 38,976,000
= A5,953
(2) A1,786
() A4, 167
oflEeY SH2Y (U=2AXN)
(29,184,000 +56432,0002 ) - 16,586,000 = 2970
(2) A299
() ABT71
N = & A 2,268,029 2,268,029 0




